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PART 1
ENGLISH TENSES. ACTIVE VOICE.
PRESENT FORMS.

Grammar Reference

Present Simple

Present Continuous

Present Perfect

Present Perfect
Continuous

V-s 3-e n. eg.d
Do, does (Bcnomo-
raTenbHbIe Fnaro-
nbl).

PerynsipHoe nei-
cTBME.

He investigates the
problem of building
material insulation.

am, is, are + V-ing

[OnvTtenbHoe aen-
CTBME B MOMEHT
peuw.

They are doing their
research project at
the moment.

have, has + V3
(V-ed)

PesynbTaT aen-
CTBUS K MOMEH-

Ty peuu.

She has just
done her re-

have, has +been+
V-ing

AnvTenbHoe aen-
CTBME B MOMEHT
peun, KoTopoe
Ha4yanocb B Mpo-
LLSIOM.

He has been mak-
ing experiments

port. for two years.

Unit L.
Present Simple. Present Continuous.

1. Look through the text and find the sentences with
present verb forms using the table above. Translate these
sentences into Russian.

2. Read the text and translate it with a dictionary.

Ferrocement

The term ferrocement is most commonly applied to a mixture of
Portland cement and sand reinforced with layers of woven steel mesh
and closely-spaced small-diameter steel rods. It is normally used in
the form of thin curved sheets to make hulls for boats, shell roofs,
water tanks, etc. It has been used in a wide range of other
applications including sculpture and prefabricated building
components. The term has been applied by extension to other
composite materials including some containing no cement and no
ferrous material. These are better referred to by available terms

4
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describing their actual contents.

Ferrocement has relatively good strength and resistance to
impact. When used in house construction in developing countries, it
can provide better resistance to fire, earthquake, and corrosion than
traditional materials, such as wood, adobe and stone masonry. It has
been popular in developed countries for yacht building because the
technique can be learned relatively quickly, allowing people to cut
costs by supplying their own labour.

Ferrocement uses less cement than in any other concrete
application and the calculated energy consumption for ferrocement is
extremely favourable in comparison with traditional brick and cement
products.

The use of ferrocement technology for shelter applications in
combination with mud technology is increasingly gaining acceptance
and is definitely more economical than concrete roofs.

Ferrocement is a type of thin-wall concrete commonly
constructed out of cement mortar, reinforced with closely spaced
layers of continuous and relatively small diameter mesh. The mesh
may be metallic or made of other suitable materials. Ferrocement is
considered to be an extension of reinforced concrete technology. The
uniform distribution of the reinforcement in the resulting composite,
its different material performance, strength behaviour and potential
application create the distinction between it and conventional
reinforced concrete, enabling it to be classified as a separate material.
Its main advantages are that it is light weight (less building materials,
lighter supporting structure needed, prefab elements easier to
handle); it has a higher ratio of labour/building material; it is normally
water-proof (if properly done) and almost any shape is possible.
Nowadays, many town-planners are increasingly using this material in
their construction practice.

3. Fill in the gaps with the words from the text.

1. is @ mixture of cement or lime or
both with sand and water, used as a bond between bricks or stones or
as a covering on a wall.

2. is concrete with steel bars, mesh,
etc., embedded in it to enable it to withstand tensile and shear stress-
€s.

3. are parts that have been prefabricat-
ed before construction.

4. Something that is is not penetrable
by water.
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5. are people involved in the comprehen-
sive planning of the physical and social development of a town, in-
cluding the construction of facilities.

6. is a rectangular block of clay mixed
with sand and fired in a kiln or baked by the sun, used in building
construction.

4. Choose the correct verb form in jtalics to complete
the sentences.

1. The Defence Department’s share of the total federal budg-
et usually ranges/is ranging between 25 and 30 per cent.

2. Something /s going/goes wrong in the global financial sys-
tem.

3. His resume shows/is showing rapid promotion and accom-
panying salary increases.

4. The use of computers as a management tool /s steadily in-
creasing/increases steadily.

5. The top three billionaires now own/are owning more
wealth than the combined GDP’s of the 48 poorest countries.

6. The authors of this project are minimizing/minimize the
space for the communication system.

5. Complete the text with correct forms of the verbs in
brackets.

We're all accountants and we (work) for a telecommu-
nications company in the finance department. We (sit) at our
PCs in the office every day and (check) the invoices and pay-
ments. But this week is different: we (attend) a training
course. The company currently (change) to a new accounting
system, and this week, we (learn) all about it. So at the mo-
ment, we (stay) at a big hotel in the mountains. It's wonderful.

When we are at home, we usually (spend) the evenings cook-
ing and cleaning for our families. But here, there’s an excellent restau-
rant and we can relax and have a laugh together.

6. Translate the sentences into English using Present
Simple and Present Continuous.

1. B HacTosiwee BpeMsi Mbl NepexxuBaeM genpeccuio (cnag).

2. TloyeMy ero pestoMe He COAEPXKUT CBEIEHUIA O €ro NepBOM
MecTe paboTbI?

3. MoTtpebneHve uvas B Mupe ysBennuusaetca ot 1.5 go 2
NPOLIEHTOB B rog.
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4. B paHHOM MpoeKTe apXUTEKTOPbl WUCMOSb3YIOT WPy KOH-
TpacToB.

5. TloyeMy apxuTeKTOpbl WCMONAb3YIOT WPy KOHTPAcTOB B
CBOEW NpakTuke?

6. BHYTpeHHSs oTAenka CodeTaeT MHOIMO MPUPOAHbIX MaTe-
pvanos.

7. B AaHHbIM MOMEHT OHWM NPOBOASIT MAPKETUMHIOBOE UCCe-
[OBaHWe NSl HOBOrO CMOPTMBHOIO XypHana.

8. Krnaccnueckne pgetanu onpenenstoT CTWIb MHTepbepa 34a-
HUS.

Unit II
Present Perfect. Present Perfect Continuous.

1. Look through the text and find the sentences with
present forms using the table on p. 3. Translate these sen-
tences into Russian.

2. Read the text and translate it with a dictionary.

Concrete Pavements

Concrete pavements have been a mainstay of America’s infra-
structure for more than 50 years. The country’s first concrete street,
built in Ohio, in 1891, is still in service today. Moreover, these long-
lasting pavements are not confined to one region of North America,
nor to a specific type of environment or climate.

While concrete pavements are best known as the riding surface
for interstate highways, concrete is a durable, economical and sus-
tainable solution for state highways, rural roadways, residential and
city streets, intersections, airstrips, military bases, parking lots and
more.

Regardless of the type of roadway or current pavement condi-
tions, there is a concrete solution. Town developers have been using
concrete for new pavements, reconstruction, resurfacing, restoration,
or rehabilitation for years. Concrete pavements generally provide the
longest life, least maintenance, and lowest life-cycle cost of all alter-
natives. Plus, due to higher oil prices, concrete has become the least
expensive alternative for new construction on a first-cost basis.

There have always been two methods for paving with concrete
— slipform and fixed form. In slipform paving, a machine rides on
treads over the area to be paved — similar to a train moving on a set
of tracks. In fixed-form paving, stationary metal forms are set aligned
on a solid foundation and staked rigidly. Final preparation and shaping

7
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of the subbase is completed after the forms have been set. Forms are
cleaned and oiled first to ensure that they release from the concrete
after the concrete hardens. Once concrete is deposited near its final
position on the subgrade, spreading is completed by a mechanical
spreader riding on top of the preset forms and the concrete. The
spreading machine is followed by one or more machines that shape,
consolidate, and float finish the concrete. After the concrete has
reached a required strength, the forms are removed and curing of the
edges begins immediately.

The first concrete street built in the United States was an 8 ft
(2.4 m) wide strip of Main Street completed in 1891 in Bellefontaine,
Ohio. Local residents were so pleased with the artificial stone road,
scored to provide better footing for horses, that much of downtown of
Bellefontaine was paved with concrete several years later.

Many municipalities today choose concrete pavement because
of its reputation for long-term serviceability and a sense that it pro-
vides better value for the investment. Today, concrete has become
the least expensive alternative for new construction on a first-cost
basis on addition to maintenance costs being generally lower.

Concrete played a major role in the construction of the U.S. In-
terstate Highway System during the past fifty years. The national fo-
cus has shifted fron building new highways to maintaining and repair-
ing the existing highway network. Recent advances in concrete tech-
nology enable highway contractors to rehabilitate the nation’s 160,000
mile (275,000 km) national highway system to extend its useful life
with minimal disruption of traffic.

3. Fillin the gaps with the words from the text.

1. is a hard-surfaced path for pedestrians
alongside and a little higher than a road.

2. is @ main road, especially one that con-
nects towns or cities.

3. is an area or building reserved for parking
cars.

4, is the act of reconstruction, as to a former
or original condition, place, or state.

5. is the base on which something is con-
structed.

4. Choose the correct verb form in italics to complete
the sentences.
1. The situation is still much the same as it has beeny/is for

8



AT
t Kuq) praBﬂeHl/Ie AUCTAHIIUOHHOTO OGy‘leHl/IH W NMOBbIIIEHHU A KBEIJ'II/Id)I/IKaL[l/II/I

AHTJIMHACKUH S3BIK

| =

the past two hundred years or so.

2. For several weeks the media has reported/has been re-
porting on the decline of the dollar.

3. Tremendous changes have taken/have been taking place
in this field of science during the past 30 years.

4. Many scientists and engineers have beenyare aware of this
idea for years but few can make it happen.

5. Recent job cuts have caused/caused staff to feel demoti-
vated.

6. As a result of numerous experiments performed we have
obtained/obtained sufficient data to prove our hypothesis.

5. Complete the text with the Present Perfect or Pre-
sent Perfect Continuous forms of the following verbs (posi-
tive or negative).

Be decide fall try rise see stay

The Channel Tunnel is an impressive example of modern
technology, but it 1 so successful as a financial venture.
Shareholders are unhappy about the latest reports, which show that
the number of cars using the tunnel 2 by 8 per cent in the
last twelve months. The number of trucks and commercial vehicles
3 at the same level for the last few years, but the company
4 an increase in its market share. Airline traffic between
London and Paris 5 because of low cost airfares.
Eurotunnel’s directors 6 not to review their pricing strategy
instead, they 7 to introduce a programme of cost-cutting in
the hope of saving the company lately.

6. Translate the sentences into English using Present
Perfect and Present Perfect Continuous.

1. B nocneaHee Bpems Mbl NepexusaeM aenpeccuio (cnag).

2. WHTepec K HaHO-TEXHOMOMMAM 3HAYMTENbHO BbIPOC 3@ Mo-
cnegHue Natb NerT.

3. 4 3aHuMMalocb uccnegoBaHveM npobnem B 3TOW obnactu
HayKu yxxe ABa roga.

4. Mol npoBenun psa aKCNEpPUMEHTOB

5. TpoueHTHble CTaBKu BbIPOC/N 3@ NPOLUIEALIMI MecsL.

6. BaHku Bcerga 6binn KpynHbIMU noTpebutenamm nHdopma-
LIMOHHBIX TEXHOMOTUIA.

7. Ero 6usHec Bblpoc Ha 25 %.

8. ManeHbkue 1 6onblume ropoaa Mosib3yTcs CUCTEMOMN BO-
[OCHabXeHWsa 1 KaHanusaumm nocnegHve ABecTu ner.

9
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Unit III
Past Forms
Grammar Reference
Past Simple Past continuous | Past Perfect | Past Perfect
Continuous

V-ed / V2 Was, were | Had + V3 (- | Had been+Ving
Did +Ving ed)
(BCroMoraTesibHbIi AnutenbHoe
rnaros) OnutenbHoe PesynbTaT nencreve K
dakT peiictBuA B | AeWCTBUE B | IBUCTBUS K | MOMEHTY B
MPOLLJIOM. OnpedenieHHbI | MOMEHTY B | MPOLLJIOM.

MOMEHT peYn B | NPOLUSIOM.

MPOLLJIOM.
He investigated the He had been
problem of building | They were | She had | making
material insulation | doing their | done her | experiments for
two years ago. research project | report by 5| two vyears by

the whole | o’clock 1999.

evening yesterday.

yesterday.

1. Look through the text and find the sentences with
past verb forms using the table above. Translate these sen-
tences into Russian.

2. Read the text and translate it with a dictionary.

Science and the Nazis

John Cornwell’s account of the dilemmas faced by scientists and
mathematicians after the rise of Hitler begins before the first world
war, when German science was experiencing its peak. German
speakers had won more than half of the Nobel prizes in science, while
extensive collaboration with industry led to profitable development of
soaps, fertilisers, pharmaceuticals, dyes and other products. The war
had opened a period of difficulty for the scientific community, but in
the late 1925 German science began to recover its prestige. This was
destroyed by the rise of National Socialism.

After Hitler came to power in 1933, Jewish scientists were
dismissed en masse from their jobs. Hitler cared little for the damage
this would cause German science. "If science cannot do without Jews,
then we will have to do without science for a few years," he told Max
Planck, a physicist. Indeed, half of Germany's theoretical physicists
had been losing their jobs during that time, to the immense benefit of

10
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Britain and America, which gained a generation of talented minds.

Some scientists supported the Nazis or used the dismissals for
personal advantage. Empty positions were filled by junior colleagues,
usually without protest or delay. But could scientists opposed to Nazi
policies retain their integrity and continue to work in Germany? Many
scientists chose to stay, and hoped to preserve German science for
better times. Among them was Max von Laue, another physicist, who
had spoken bravely on Einstein's behalf in the early 1935 (and who is
said to have developed a habit of carrying large parcels under each
arm, to avoid having to give the Nazi salute).

Other cases are more debatable. Mr Cornwell devotes several
chapters to Werner Heisenberg, whose wartime conversations with
Niels Bohr have been famously dramatised in Michael Frayn's recent
play, "Copenhagen". Despite ample opportunity to leave, Heisenberg
chose to remain in Germany and ran the German atomic-bomb
programme. He made a poor director, and some have suggested that
he in effect sabotaged the programme. Mr Cornwell sees no evidence
for this, arguing that Heisenberg was neither a hero nor a villain, but
wasinstead "morally and politically obtuse".

Sanford Segal's book looks in depth at the fate of German
mathematics under Hitler. Mathematicians, of course, were also faced
with the wave of expulsions of Jews from the profession. For those
who remained, Nazism quickly impinged on their lives.

Mathematicians were subject to repeated political evaluations.
University employees had to swear oaths of loyalty to Hitler and greet
their colleagues with the Nazi salute. Foreign contacts and travel were
strictly limited, and research stagnated. Some mathematicians, such
as Hermann Weyl, chose to leave, while many remained and kept a
low profile. However, a few collaborated with enthusiasm. A
particularly egregious example was Ludwig Bieberbach, a senior
professor in Berlin and a leading mathematician of the period.
Bieberbach was an enthusiastic proponent of Nazi ideology, publicly
advancing a theory of racial and national differences in mathematical
style. His theory divided mathematicians into two types: Jewish or
French mathematicians (the "S-type") were pure theorists who
imposed their ideas wupon the world, while true German
mathematicians (the "I-type") supposedly understood the world as it
really was. Mr Segal's account of this episode is one of the most
interesting parts of the book. While the maths may at times prove too
technical for the lay reader, the strength of the book lies in its many
individual stories and case histories. Mr Cornwell's work is more wide-
ranging and accessible, and evokes the moral dilemmas of the period

11
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very effectively. Both books offer disturbing and important accounts of
the life of science and scientists under the Nazis.

3. Fillin the gaps with the words from the text above.
1. The advertising campaign proved to be very .
2. The new credit cards will of great to our cus-
tomers.
Wilson was claiming compensation for  unfair
4, The oil spill is problems for coastal fisheries.
5.  She has a reputation as a good communicator.

4. Complete the following sentences with the correct
past form of the verbs in brackets.

1. For nearly 300 years Americans (to use) increas-
ingly sophisticated technology to exploit their resources.

2. The loss from discontinued operations (to be)
twice as high as the company (to predict).

3. As a result of mergers and takeovers companies
(to get) larger day by day.

4. The full-year figures (to show) a downturn.
5. When J.F. Smith (to run) the company, he
(to lay) down some simple rules.

6. Until this year the firm (to enjoy) 16 years of
uninterrupted profit growth.

7. He (to recruit) a staff of over 100 foreign spe-
cialists.

8.  When F.D. Roosevelt (to take) office in 1933 banks
in many parts of the country (to fail).

9. By 1940 the number of federal workers (to
double).

10. For years the proportion of Government investment in the
manufacturing engineering industries (to decline).

11. For many years scientists (to study) nucleus
before they (to find) that it was possible to split it.

5. Translate the sentences into English using Past
Simple, Past Perfect and Past Perfect Continuous.

1. DTOT yyeHbllt BHEC 6OMbLIOM BKIaA B PasBUTME OTeye-
CTBEHHOW M MMPOBOW 3KOHOMUKMU.

2. KonnyectBo 3Tx Kopriopauuil COKpaTWIOCh 3a Mpolues-
LIniA roa.

12
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3. K 1939 rogy KOMMYeCcTBO rocciyawux npakTuyecku
YABOUNOCh.

4. [lpoueHTHble CTaBKM MOCTOSIHHO POC/X B MPOLLJIOM roay.

5. Ha npoTsbkeHuun 6onee YeM ABYX AECATUNETUN 3TU CTPaHbI
KOHKYpVpOBanun Mexay coboi.

6. YposeHb npoussoacTea B CLUA Bbipoc B ABa pa3a K 1990.

7. DKCrepuMeHTbl, KOTOpble Mbl MPOBENN, MOMOMIN HaM Mno-
NY4nTb CYLLECTBEHHbIE AaHHblE 4SS HALLEN Hay4HOW paboTsbl.

8. Bnnotb Ao 30-x rogos CLUA umenu HecbGanaHCUPOBaHHLIN
benepanbHbI 6IOaXET.

9. LUeHa akuuin yBennumunacb Ha 20 % B NpOLUSIOM roay.

10. K KOHUy NpoLnoro roga 3apybexHble KOMNaHMnM UHBECTU-
poBanu B Kutaii okono 181 Munnuapaa Aonnapos.

Unit IV
Future Forms

Grammar Reference

Future Simple Future Future Perfect Future Perfect
continuous Continuous
Will+V Will be +Ving Will have + V3 | Will have
HesannaHuposaH | lMNpouecc (-ed) +been+Ving
Hoe JeicTBMEe B | AeNCTBUA B | PesynbTat AnutensHoe
6yayLiem onpefeneHHbin | gencTens K | nencreue K
MOMEHT B | onpefeneHHoMy | MOMeHTY B
6yayLiem. MOMEHTY B | byaywem.
Syaywem.
I think he'll | He'll be making | He'll have | He'll have been
present his | the experiments | written the | doing his
project next | for the next two | article by the | research for
week. weeks. end of the | two years next
week.. year.

1. Look through the text and find the sentences with
future verb forms using the table above. Translate these sen-
tences into Russian.

2. Read the text and translate it with a dictionary.

Dinamo stadium delayed - and commercial development

cuts the budget

Dinamo fans will have to wait until 2016 to see their team
return to its Petrovsky Park home — and the concept for the stadium
has changed significantly.

13
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It is expected that refurbishing the crumbling concrete of
Moscow’s oldest football stadium will have taken by 2012.

But the future World Cup host venue, which will have 45,000
seats, is set to get a smaller slice of the projected $1.5 billion
investment, with more money now being spent on related residential
and commercial developments.

The initial stadium design by famous Dutch architect Erick van
Egeraat was selected by then last summer — and immediately ordered
in for a refit to reduce the height of the structure.

And the new-look development, while retaining the top-level
sports facilities for football, hockey and basketball in the design, will
also boast a concert hall.

The scheme is largely bankrolled by VTB, Russia’s second
biggest bank and — since 2009 — owner of 75 per cent of the football
club.

The bank will provide more than $1 billion towards the cost and
it will be guaranteeing loans taken out by the football club.

But the sports and entertainment strand of the development is
now going to cost just $500 million — one third of the total outlay.

The rest will go on a five-star hotel and an exclusive residential
complex at the junction of Leningradsky Prospekt and the Third
Transport Ring: projects where investors hope to see a swift return on
their money.

And while work on the residential and commercial segment
is due to start this autumn — pending the appointment of a contractor
— there is little sign of progress at the stadium.

While some of the seating has been removed from the stands,
the imposing floodlight pylons are still in place and little work has
been possible during the wrangles over the final design.

If the venue is to host games in the 2018 World Cup as
planned, it will have opened by 2016.

3. Fillin the gaps with the words from the text above.

1. is to put off to a later time.

2. is the total amount of money allocated for a
specific purpose during a specified period.

3. is making neat, clean, or complete, as by
renovating, re-equipping, or restoring.

4. is a repair or re-equipping.

5. is an expenditure of money.

4. Complete the following sentences with the correct
14
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future form of the verbs in brackets.

1. By the 1%t of September this year he (to
work) for the company for three years.

2. Further the proportion of government investment in the

manufacturing engineering industries (to increase).

3. For the next five years executive salary (to
go up).

4. Within a few years al leading companies (to
double) their profit.

5. By the time she leaves next month she (to be)

with the firm for 22 years.
6. He expects that for the next two decades some $4 bin
(to come) from completely new areas of business.

7. The authors of the project (to minimize)
the space for the communication system.

8. She thinks that the clients (to appreciate) the
idea.

9. By the end of the next year the architect (to
turn) an ancient building into an elegant modern house.

10. The town developers (to construct) a seven-
storied building here for two years.

11. The euro (to get) stronger and stronger. It

( to be) worth as much as the pound soon.

5. Translate the sentences into English using the fu-
ture verb forms.

1. Cnepyowme 18 MecsueB MUHUCTEPCTBO MO OXpaHe OKpy-
Xatowen cpeabl 6yaeT paspabaTbiBaTb KOMMIEKC Mep MO KOHTPOSIO
3a cbpocoM BpeaHbIX OTXOA0B.

2. Cnepys KnaccMyeckvM TpaauumsiM, 3TOT AOM He byaeT Bbl-
rNAAETb MOMME3HbIM UK KaK My3ei.

3. OHM HauyHYyT CTPOUTL 3TOT KOMMJIEKC Yepe3 6 MecsLEeB.

4. C npeBpalleHMeM HefoCTaTKOB B AOCTOMHCTBA 3TOT MoOn
6yaeT BbIrNsAeTb NoTpscaloLle.

5. TpoekTnpoBLUMKK 06CYAAT 3TOT MPOEKT K KOHUY cneayto-
Len Hegenu.

6. [Ou3aiHep obellaeT, YTO TaM He 6yaeT 6eCCMbIC/IEHHBIX
NpeaMeToB, NeperpyxaroLlwmnx NpocTPaHCTBO.

7. 3tomy npmbopy notpebyeTcs ycoBepLleHCTBOBaHMeE.

8. YueHble 3aBepLiaT 3KCNepUMEHT K KoHLy 2012 roaa.

9. 3aBoa nepesefeT NPOU3BOACTBO BCEX HOBbLIX MawWWH B Ku-
Tal B 6yayLuem rogy.
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10. Beaywve KOMMaHUKM HE TOBOPST O KOMMbIOTEPHBLIX Mpe-
CTYN/IeHUsX, TakK KakK OMacaloTcs, YTo Ny6IMYHOCTb MOBPEeaUT MX Kop-
nopaTMBHOMY A0X0Zy.

REVIEW

Complete the following sentences with a proper verb
form in Active Voice. Use the verbs in brackets.

1. you ever a report at the conference (to make)?

2. 1 (to work) for the company for five years already
but then I (to decide) to change my job.

3. At present we (to study) the problem of la-

bour productivity.
4, Over the past few years the interest in the problem
(to increase) greatly.

5.  Many aspects of the problem still (to remain)
unsolved.
6. The technique (to make) it possible to

intensify the production process.
7. The development of sanitary engineering
(to contribute) to the growth of cities.
8. The concentration of population in relatively small areas
(to make) the task of sanitary engineer more complex in
early times.
9. In future the number of sky-scrapers in Hong Kong
(to continue) to increase due to a prolonged high-rise
building boom and high demand for office and housing space in the

area.

10. They (to graduate) from the university
by the end of June.

11. We (to make) our experiments by the
end of last year.

12. The printer (to work) in an on-line mode for
half an hour before he came.

13. Next week they (to test) the new building sys-
tem.

14. They (to develop) a new electronic device

when they received the experiment data.
15. In recent years the social security system
(to run) out of money to pay benefits to retired people.

16. The practice of architecture (to involve) the
planning, designing, and oversight of a building’s construction by an
architect.
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17. 1 (to compile) the programme by tomor-
row.

18. When (to come) into the room, my col-
league (to compile) a programme.

19. Currently Public Health Service (to conduct)
research into the health effects of minute concentrations of various
contaminants and (to establish) water quality standards

for public water supplies.

20. The first municipal sanitary improvement both in England
and elsewhere (to be) the construction of water supplies.

21. Road traffic safety (to deal) exclusively with
road traffic crashes.

22. The development of water supplies (to play)
a large part in the early use of plumbing system.
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PART I1
ENGLISH TENSES. PASSIVE VOICE.

Unit I

Present Forms.

Grammar Reference

Present Simple Present Continuous Present Perfect

Am, is, are + V3 (-ed) am, is, are+being + V3 | have, has + been+V3
(-ed) (-ed)

PerynsapHoe kocBeHHoe | [nuTenbHoe KOCBEHHOe | Pe3ynbTaT KOCBEHHOro

JencTeume. [ENCTBME B MOMEHT pe- | AENCTBUA K MOMEHTY
yu. peumu.

The problem of building | The research project is The report has already

materials insulation is being discussed at the been done.
investigated by most moment.
researchers.

1. Look through the text and find the sentences with
present passive verb forms using the table above. Translate
these sentences into Russian.

2. Read the text and translate it with a dictionary.

Notes:

Laissez-faire — the principle that the government should allow
the economy of private businesses to develop without any state
control or influence.

Market and Planned Economies

A market economy is an economy based on the power of labour
division in which the prices of goods and services are determined in a
free price system set by supply and demand. This is often contrasted
with a planned economy, in which a central government can distribute
services using a fixed price system. Market economies are also
contrasted with mixed economy where the price system is not entirely
free but under some government control or heavily regulated, which
is sometimes combined with state-led economic planning that is not
extensive enough to constitute a planned economy.

In the real world, market economies are not being used in a
pure form, as societies and governments regulate them to varying
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degrees rather than allow self-regulation by market forces. The term
free-market economy is sometimes used synonymously with market
economy, but it was pointed out by Ludwig Erhard, this does not
preclude an economy from having social attributes opposed to a
laissez-faire system.

Different perspectives exist as two how strong a role the
government should have in both guiding the market economy and
addressing the inequalities the market produces. For example, there is
no universal agreement on issues such as central banking and
welfare.

The term market economy is not identical to capitalism where a
corporation hires workers as a labour commodity to produce material
wealth and boost shareholder profits. Market mechanisms have been
utilized in a handful of socialist states, such as China, Yugoslavia, and
even Cuba to a very limited extent.

Planned Economy (or command economy) is an economic
system which the state directs the economy. It is an economic system
in which the central government controls industry so that it makes
major decisions regarding the production and distribution of goods
and services. Its most extensive form is referred to as command
economy, or centrally planned economy.

In such economies, central economic planning by the state or
government controls all major sectors of the economy and formulates
all decisions about the use of resources and the distribution of output.
Planners decide what should be produced and direct lower-level
enterprises to produce those goods in accordance with national and
social objectives. A planned economy may consist of state-owned
enterprises, private enterprises directed by the state, or a combination
of both.

In the early 1980s and 1990s, many governments presiding
over planned economies began deregulating and moving toward
market-based economies by allowing the private sector to make the
pricing, production and distribution decisions.

3. Fill in the gaps with the words from the text above.

1. Food production is still increasing faster than

2. The nation’s fuel will not last forever.

3. There will be tax increases on a wide range of
and services.

4. Our only concern is the children’s

5. are people who own shares in a company
or business.
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6. Our daily is usually around $500.

4. Complete the following sentences with the correct
present passive form of the verbs in brackets.

1. Aclaim (to report) by the policyholder.

2. If the claim is suspicious, the policyholder (to in-
form) and live telephone interview (to arrange).

3. At the moment your claim (to consider) and a
decision will be taken shortly.

4. Since then, they (to restructure) the com-
pany into five departments.

5. Currently a new head office for 2000 staff (to
build).

6. The experiment just (to complete).

7. The computer’s basic units (to test) just now.

8. the programme (to load) at the moment?

9. The new department (to open) yet.

10. Complex calculations (to carry) out with the
help of the computer now.

11. These digits easily (to multiply).

5. Translate the sentences into English using the pre-
sent passive verb forms.

1. CaMoe cepbe3HOe 3arpsi3HeHWe cpeabl OCYLWEeCTBNASIT
KPYMHbIE NMPOMbILLIEHHUKMN.

2. Mocobue no 6e3paboTvue BbINIAYMBAETCA TEM, KOro
YBOJIbHSIIOT.

3. DTa aBMaIUHUS HaxoauTCs B COBCTBEHHOCTM KOHCOpLMyMa
CLLA.

4. Bce BMAbl AeATENbHOCTM YeNloBeKa COMpOBOXAAIOTCS C Ka-
KOW-TO Aonewn pucka.

5. BaXkHblii 3KCNEpPUMEHT MPOBOAMTCS Cceivac B Halleit nabo-
paTtopuu.

6. MHorve HoBble YCTpONCTBa BBOAA MHMOPMaLMK yXe LMPO-
KO BHEZpEHbI B NPaKTUKY y4ebHOro npouecca.

7. CerogHs MHOro roBopsit 06 MHHOBALMOHHbBIX TEXHONOMMSIX.

8. Takwue Buabl TOBapoOB NpMObpPETaoTCa Yy NOCTABLUMKOB.

9. UeHbl Ha pblHOYHbIE TOBApbl 3aBUCAT OT Crpoca W npeano-
XKEeHUs.

10. Beuay HexBaTKM KaApoB, NiaHbl Ha CTPOUTENLCTBO He Bbinn
OCYLLECTBIIEHDI.
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Unit
Past Forms

Grammar Reference

II1
. Passive.

Past Simple Past Continuous Past Perfect

Was, were + V3 (- Was, were+being + had + been+V3 (-

ed) V3 (-ed) ed)

KocBeHHoe ANUTENbHOE pesynbTaT

JEeNCTBME KaK haKT | KOCBEHHOE AENCTBME B | KOCBEHHOIO

B MPOLLJIOM. onpeaeneHHbIi [IEACTBUS K MOMEHTY
MOMEHT B MPOLLIJIOM. B MPOLLIOM.

The problem of The research
building materials
insulation was
investigated by most
researchers last

century.

was being discussed at
the conference.

The report had been
done by the end of
last month.

project

Future Forms. Passive.

Future Simple

Future Perfect

Will be + V3 (-ed)
KocBeHHOe aencTBue kak haKkT B
byaywiem.

The problem of building materials
insulation will be investigated by

Will have been+V3 (-ed)
Pe3ynbTaT KOCBEHHOrO AENCTBUS
K MOMeHTY B byayuiem.

The report will have been done
by the end of the month.

most researchers soon.

1. Look through the text and find the sentences with
past and future passive verb forms using the tables above.
Translate these sentences into Russian.

2. Read the text and translate it with a dictionary.

Notes:

Coercive — using threats or orders to make someone do
something they do not want to do.

Laissez-Faire
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According to historical legend, the phrase stems from a meeting in
about 1680 between the powerful French finance minister Jean-
Baptiste Colbert and a group of French businessmen led by a certain
M. Le Gendre. When the eager mercantilist minister asked how the
French state could be of service to the merchants and help promote
their commerce, Le Gendre replied simply "Laissez-nous faire' ("Leave
us be", lit. "Let us do"). Adam Smith first used the metaphor of an
"invisible hand" in his book 7he Theory of Moral Sentiments to
describe the unintentional effects of economic self organization from
economic self interest. Some have characterized this metaphor as one
for laissez-faire, but Smith never actually used the term himself.

Laissez-faire is synonymous with what was referred to as strict
capitalist free market economy during the early and mid-19t century
as an ideal to achieve. It was generally understood that the necessary
components for the functioning of an idealized free market included
the complete absence of government regulation, subsidies, artificial
price pressures and government-granted monopolies (usually
classified as coercive monopoly by free market advocates) and no
taxes or tariffs other than what was necessary for the government to
provide protection from coercion and theft and maintaining peace,
and property rights.

Economic freedom was stated to be a necessary condition for the
creation and sustainability of civil and political freedoms. Scientists
believe that these economic freedom will be achieved only in a
market-oriented economy, specifically a free market economy. They
also suppose that sufficient economic freedom will be realized in
economies with functioning markets through price mechanisms and
private property rights. The more economic freedom available the
more civil and political freedoms will be enjoyed by a society.

The Wall Street Journal state that there is a relationship between
economic freedom and political and civil freedoms to the extent
claimed by the German Economist Friedrich von Hayek. It is believed
that those countries which restrict economic freedom ultimately
restrict civil and political freedoms.

Generally market economies are bottom-up in decision-making as
consumers convey information to producers through prices paid in
market transactions. All states today have some form of control over
the market that removes the free and unrestricted direction of
resources from consumers and prices such as tariffs and corporate
subsidies. Milton Friedman and many other microeconomists believe
that these forms of intervention provide incentives for resources to be
misused and wasted, producing products society may not value as
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much as a product that is valued as a result of these restrictions.

3. Complete the following sentences with the correct
past and future passive forms of the verbs in brackets.

1.  When he was in charge of the project he often
(to ask) to report at the meetings.

2. Many books on history of architecture (to
translate) into Russian by the end of the last year.

3. The article (to publish) in the journal “Construc-
tion Engineering” by next May.

4. The results of the experiment (to check up)
carefully the whole day yesterday.

5. The latest electronic memory device (to
speak) much about soon.

6. The experiment (to carry) out when the dele-
gation arrived.

7. The postgraduate students (to offer) new
themes for their research.

8. The house never (to live) in before last year.

9. The research findings (to put) into practice.

10. The patent for this device (to register) before
they applied for.

11. The development of water supplies (to follow)

with a greater use of plumbing system.

4. Translate the sentences into English using present
passive verb forms.

1. ToHHenb nopg nponueoM Jla MaHwWw npoknagsiBanu B Teye-
HWE HECKOsbKMX NET.

2. Ocoboe BHMMaHWe yaenunn UCKYCCTBY MapKeTa, coyeTalo-
Llero pasfnnyHble Nopoabl AepeBa.

3. Bypet 3TOT NpoeKT pacCMOTPEH Ha creaytoLlen Hepene?

4. Wpes 3TON KOHCTPYKLUMW BriepBble NpuLLa cTo neT Ha3ag.

5. Kak Tonbko obecneyeHo (hMHaAHCMpOBaHWe, UccneaoBaHue
Hayanoco.

6. OTo npeanoxeHune ByaeT pacCMOTPEHO No3aHee.

7. Pa3HoobpasHble BMAbl KpaHOB 6binv MCNONb30BaHbl Mpu
cTpoutenbcTee Hebockpeba.

8. K ToMy BpemeHu 3Tu ycryru 6biamn NOAHOCTLIO OMnfiayeHbl.

9. OTu cucTeMbl CO34aBasiMCb Ha NPOTSHXXEHUWN MHOTUX NeT.

10. YBonbHeHus 6yayT npoao/mkaTbCsa A0 Tex Mop, Noka He
6yayT cokpalleHbl paboune mecTa.
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REVIEW

Complete the following sentences with a proper verb
form in the Passive Voice. Use the verbs in brackets.

1. This skyscraper (to neighbour) by the 18" cen-
tury church.
2. A brick as a building material (to use) since the

earliest times.
3.  New methods in the design and construction of skyscrap-

ers (to relate) closely to the development of computers.

4. After the building site (to clear, to level and to
drain) of water, excavation (digging) begins.

5. Currently the USA (to press) to take a great re-
sponsibility for free trade and international development assistance.

6. Many types of building sections (to prefab-
ricate) by the time the excavation works are completed.

7. The discovery (to succeed) by many others.

8. Three quarters of all international investment
(to make) by just four countries — the USA, The UK, Germany, Japan.

9. Computers increasingly (to use) to solve the
complex mathematical problems involved in such construction pro-
jects.

10. I think this proposal (to object) to.

11. Tunnels (to dig) in various types of materials
from soft clay to hard rock.

12. Architectural design (to drive) by the crea-

tive manipulation of mass, space, volume, texture, light, shadow ma-
terials, programme and pragmatic elements.

13. Historical civilizations (to know) through
their architectural achievements.

14. Environmental engineers (to engage) in pollu-
tion reduction, green engineering and industrial ecology.

15. Sorry for the delay, your insurance claim (to deal)
with as soon as possible.

16. The terms of insurance policies (to change)
by some insurance companies.

17. Each year over 300 homes (to destroy) by
hurricanes.

18. Your insurance claim (to process) at the mo-
ment.

19. The medieval city (to design) for pedestrians.

20. Certain urban lay-outs which (to repeat) au-
tomatically (still to look upon) as standard forms.
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CONSOLIDATION

1. Complete the following sentences with a proper verb
form in the Active or Passive Voice. Use the verbs in brackets.

1. After the survey (to be) complete a forecast of fu-
ture development (to make) in the form of a map.

2. Until recent years town plans always (to make)
as inflexible patterns, but history (to show) that a plan of
this description breaks down in time.

3. Most town planners (to accept) the traditional
town pattern.

4. The plan continually (to adapt) since it is nev-
er a complete thing.

5.  The town (to change) greatly since 1
(to see) it last.

6. Before a plan (to design) it is necessary to find
out about the existing environment since a plan (to absorb)
or (to modify) it.

7. Since the master plan (to take) into considera-
tion the existing topography, it (to indicate) the areas for
rest.

8. The pattern of the town (to define) by the
masterplan.

9. The ancient Egyptians (to discover) how to

cut stone for building purposes.
10. During the last hundred years many new methods of

building (to discover).

11. Currently the present-day municipal engineers and city
planning authorities (to deal) with the two-dimensional plan.

12. For the decades architects (to design) monu-
ments dedicated to the memory of important events and people.

13. The beauty of a city or town largely (to de-
termine) by the quality of its architecture.

14. As soon as the agreement (to sign), the archi-
tect (to design) a building for a client and (to con-
sider) the client's wishes and needs.

15. Architecture (to date) from prehistoric times
and ( to found) in almost all societies.

16. The construction of the homes and buildings (to
be) a major industry ever since early human beings first (to

make) huts of sticks, mud, or rocks.
17. For the last ten years in some regions town developers
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(to construct) buildings to withstand storms and earth-
quake shocks.

18. Most skyscrapers (to support) by rock founda-
tions.

19. The slabs (to form) with concrete at ground level
before they (to lift) into place using hydraulic jacks.

20. Since the eruption (to break), all the villages on
the slopes of the volcano (to evacuate).

21. I (to attend) a committee meeting since 1986,
sol (not to want) to miss the one today.

22. We (to pay) $200 on food this month already.

23. Justasl (to leave) the building, the fire alarm

(to go off).

24. The plane (to travel) at twice the speed of
sound when it (to pass) overhead.

25. At 5 pm tomorrow professor White (to give) his
first presentation at the conference.

26. By the time the software (to go) on sale, the
company (to spend) $5 min on developing the software.

2. Complete the following text with a proper verb form

in the Active or Passive Voice. Use the verbs in brackets.
Arabia’s Field of Dreams

One of the most successful business ventures in a small
city-state that learnt lessons from Singapore and Hong Kong.

A tropical sun 1 sets (to set) behind the palm trees and white
sand of Jumeirah beach. Here, machines 2 (to build)
houses on one of the world’s largest man-made islands, designed in
the shape of a palm tree. England’'s soccer stars, led by David
Beckham, 3 (to be) among the early buyers when the 2,000
villas 4 (to sell) out in a week.

Dubai 5 (to expect) its oil reserves to run out in a
about ten years. But the city-state 6 (to use) its oil
income to invest in a different sort of future, replacing oil with people.

Today Dubai 7 (to have) 272 hotels with 30,000
rooms and almost 5 million foreign visitors a year. In the desert,
Dubailand 8 (to build) — a $19-billion theme park twice
the size of Disneyland in Florida.

The city-state 9 (to build) huge tax-free shopping
malls and 10 (to launch) sporting events, such as the Desert
classic golf tournament and the Dubai World Cup horse race, and so it
11 (to become) a holiday destination, offering attractions
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such as desert safaris and boat cruises.

Dubai’s easy-going style 12 (to make) it a positive
place to live and work.

In Dubai’s free-trade zones, no local partner is required. These
zones 13 (to attract) the service sector, by setting up
developments for multi-national companies specializing in similar
activities. For example, Internet City 14 (to house) regional
offices of Microsoft, Siemens and IBM. There 15 (to be)
plans for a Knowledge Village, which 16 (to attract)
foreign colleges.

Dubai 17 (to intend) to establish itself as the leading
capital market for its region. The Dubai International Finance Centre
18 (to take) shape, and the world’s leading investment
banks 19 (to wait) to move in. The new city of
skyscrapers 20 (to include) Burj Dubai, an office block that
21 (to be) the tallest building in the world when completed
in a few years.

If it 22 (to succeed), by the end of the decade Dubai
23 (not only to become) a tourist resort but an important
business centre.
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